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Download: https://www.braindump2go.com/300-465.html 2.[2018 L atest 300-465 Exam Questions & Answers
Download:https.//drive.google.com/drive/folders/OB 75b5xY Lj SSN S2dPQOQ5RThtS1U 2usp=sharingQUESTION 24Which two
ports are used by Intercloud fabric tunnel ports? (Choose two.)A. TCP 6644 and 6646B. TCP 6000 and 7010C. UDP 6644 and
6646D. TCP 7000 and 7010Answer: ACQUESTION 25A cloud administrator is designing security policies for a hybrid cloud
using Cisco Intercloud Fabric. Which two security capabilities does Intercloud Fabric provide for hybrid clouds.(Choose two.)A.
open access cloud VMsB. Encrypted VM to VM communicationC. open access site-to-site communicationD.  role-based access
control on cloud resourcesAnswer: BDQUESTION 26Which three teases are provided by the Cisco Secure Cloud Extension?
(Choose three)A.  new model for mapping applications to the networkB. advanced switching features for applications that run in
the provider cloudC. web portals that generate revenueD.  support for services such as zone-base firewall and touting in the
provider cloudE. designed to abstract the instantiation of network policy and forwarding from basic network constructs (VLANs
and subnets)F.  secure Layer 2 network extension (rom a private cloud to a provider cloudAnswer: BDFQUESTION 27A cloud
administrator is considering methods for securing the cloud infrastructure. Which three statements about data plane protection are
true? (Choose three.)A. Y ou must preplan security policies and test them thoroughly before you implement them in an automated
fashion.B. Define security policies ater the creation of virtual machine environments.C.  Storing sensitive information on the
cloud is permissible as long as the data center architectureisresilient.D. Out-of-date corporate security policies contribute to data
exposure.E.  Encrypting data at rest on the disk is extremely helpful in assuring data protection within a cloud-based data center.F.
Data encryption is enforced only when an application requiresit. Answer: ABEQUESTION 28Which three network services are
offered by Microsoft Azure? (Choose three)A. elastic load balancingB. traffic manager route incoming traffic for high
performance and availabilityC. intrusion detection systems, load balancing, firewallsD. virtual private networks to be deployed
and managedE. virtual network provision private networks, optionally connect to on-premises datacentersF.  express route
dedicated private network fiber connections to AzureAnswer: BEFQUESTION 29Which statement about VACS istrue?A. It
provides centralized provisioning and orchestration (or physical and virtual networking.B. It is designed around open standards
and open APIs.C. It provides scalable and multi protocol controller infrastructure for supporting multiple service providers and
services.D. Delivers a comprehensive cloud management solution spanning service offerings from underlying infrastructure lo
anything-as-a-service platforms.Answer: DQUESTION 30Which two statements about designing an application stack using Stack
Designer are true? (Choose two)A.  Using Stack Designer, application stack se-vices ate created by removing the application
component in containers.B.  Using the Slack Designer module in the prime service catal og, the application stacks can be designed
as atemplate and published as orderable servicesin the Service catalog storefront.C.  When an application template order b
completed, al provisioned applications are displayed in My Stuff > Designer Template.D. The Application Slack-as-a-Service
feature enables you to design Product-as-a-Service templates and services. Answer: BCQUESTION 31Which large-scale Layer 2
connectivity protocol is best (or VLAN address space that islimited in large networks?A. VXLANB. OTVC. USPD. VPNE.

NVGREAnNswer: AQUESTION 32A cloud administrator must deploy a private Cloud. The design is focused on the need to
accelerate applications delivered from private and virtual private cloud infrastructure, using policy-based on-demand orchestration.
Which two products are the most beneficial to these efforts. (Choosetwo.)A. VSGB. Cisco Nexus 1000vC. ASAvD. vNAM
E. CiscovVWAASAnswer: BEQUESTION 33ABC Company offers services that are tailored for different vertical markets. They
want to use Software-as-a-Service but they are concerned about security. Which cloud typeis best for them?A.  private cloudB.
hybrid cloudC. public cloudD. community cloudAnswer: BQUESTION 34A cloud administrator is considering storage for a
deployment. The admin needs a solution that is durable and reliable and fits the need for storing media, web assets, and backups.
Which solution meets this need the best?A.  Cloud file storageB. Cloud block storageC. Cloud hybrid storageD. Cloud NFS
storageAnswer: C!''RECOMMEND!!!1.]2018 L atest 300-465 Exam Dumps (PDF & VCE) 65Q&As
Download:https://www.braindump2go.com/300-465.html 2.|2018 L atest 300-465 Study Guide Video: Y ouTube Video:
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